W

WH T EEEL TP A-F PR A
ENE - n

%

v BRE-p S PRREA 4 AR

W Oxrpm OF&pfar OF &2 rfap

& 23

7 # R

749 F

COMRARRY AR |, | 7 SRR L | T OAEARSC
i ol I I R T R
2EE | TR R -

N

O |0 J || Ol k=W~

—_
o

—_
—_

[
DO

[u—
w0

._
B~

[u—
(@]

[
[@p]

—_
-3

[
oo

—_
©

DO
o

DO
—_

DN
DO

DO
o

DO
NG

DO
[$x]

DO
[@p]

(N}
-3

DO
co

DO
(Ne]

[G%)
[w=)

w
—_

*

7 & (¥)/ 7 R




Wo& =

COORREL (E4R T A AR A

N FETLR &
T N X
5P S i/
L;&grg;}gi.gg’@\ I RN SRR SR SRR /=)
2. v S & GFREYBIET EREL (TR P A R R P
#aiv4 3l P 15)
3-1. & ’F &1 POITF Ay Lt"k PR PR R %/’Pﬁ&ﬁé“ AFEEET B4
- ~Em G R NETT

32403 FRRBIE BB A G 0 MR TR 45
60 & -

4. P TF g T

5. #-< ' & E RS L AT

g L4

SN EE P RS T REERT RS ) BOR R %
mr%m#%@
R TP E S EE TR 1)
(% N3 %4 44 e vemEa 7431 P.20-23 2 P.36)

2HAET R REREKT 0 FF 0 BlABD

™

3_1'351%&*#&—2\ ‘i/ﬁ\f’ ~ /%-Kf 3#7’5&&/_6 °
3-2.4cF A LrT F o AR v R BEFA KL % o

A7 @& FART BE S FEL  THE S RART G 1 f1F
7 o

b, % B F AR M S v R R JRAP v R ’Fi’%'ﬂ Ve 4 = g
LA Ty _E_%« °

6.1 % 7 M/ HAT BH o F AR o

T T RIBAFT > %7 258 kp AmER 4 w2 N (%
YT v (T4 51 Po16-19) -

&%ﬁ%“%ﬁﬁ?lij%ﬁ%ﬁ

10

LRI R £ LS § 25000 5T S o

1A AR O A W kL T e
- S S %“ﬁﬁ?n«%v&ﬂﬁ-iw%w%4°




Wi

BT B e A

%

Il

e SN S PR R R N

i) nE e UF
LoRRaisfE A A ch B e L5 #4f7
LI 3 #4167
2. PH O AP 2 R O3 #i7
gy L3 #4167
3. BB ER L5 67
Lz 5 $#467
4. ZERG O3 #4467
Lz 5 $467
} . e o A e ) O3 #4467
TR TRERAGE RS T O 417
WL L5 #47
Ll 3 #4167
2.%% M~ T ER(LE) O+ #44
N1 SEIRE
3B w7 E (&) 0% #4467
Lz $#465
4. 7 & kR 1000ppm ™+ 7 F O3 #i7
L5 $#47
5 BT %ﬁﬁwﬁiﬁéﬁ#&ﬁﬁiﬁéﬁz’%‘ 05 $#47
TR Lix i
1. B& 5% L5 $47
PRN— O3 4 17
2. BB 05 $#47
O3 4 7
= AMEtid S WHERA Py -

R
R

BPE (7 B

1:
2 RENET BHFI T AL LEHE -

i




oA ow
f oy EEBHI LS C VR KRR 4
A RFHR
i el A pHplELP
a3 0Ogce ;O g, 0vdR ;08
CECR N P Dﬂ’»’? ,Dﬁix% s Oes s Ok OR
aw+ 0p (7 O * Bk g L Opfersk s ; OH v
HxE g o
7 # LT L (D= iF 0 M=ik 7 0 RR=A 1T 0 F=iiif)
b By 55| 54| 53| 52| 51| 61| 62| 63| 64| 65 b B2
- v 18| 17| 16| 15| 14| 13| 12| 11| 21| 22| 23| 24| 25| 26| 27| 28 - =
99 = B7 7 %
- 5L 85| 84| 83| 82| 81| 71| 72| 73| 74| 75 -5z
48| 47| 46| 45| 44| 43| 42| 41| 31| 32| 33| 34| 35| 36|37 |38 -
L9 9 F L3 9 &
277 % E7 79
SP BT i R
dg O 0OpE7 ;02 BT ik O c0OEg ;OHT
T O s OkmE7 sO2xr 7 RSk Og% c0Org s OH
ﬂ"??’”’;}iiﬁsﬁﬂ"&‘fﬁ
e s 09 80 09 %+ O szapel O
U AR iR IEP
] MFE RS AT
| WA= i
N . >0 4 5 TN A roaiEEd 7T
1 r'ﬂf;i—‘i (.g \?’;}F‘ﬁ;:) l \ J ( /’ﬂ_#‘.l £ ‘F /?)
0: 5%
\ / l: B55 7 FRES R
— 2: BEE RV FERIR o
9 \"B"’ J# g
3 [ ar) L kg 2 ke
4 v 35 PA =x/5#) TA /2% KA /5%
MEEERER®A
L] 0: segmiz
S [F&FA ] ij—j/ oA, IR R
1 P ERTE Yo dro p,J\.i‘JF';%,)E}
2:ggemiddar vl THRIER
R S AT
C0-HEF T ST #
6 [er vE-rt g H 0:0 5—{‘]-,“1‘:%?“1?%
L1 1:6-1042F T & en7 &
L1 2:11-14 % Tra & en7 &
T |E%* A =x /30 %)




Xl v “’”%J#—'l Saxon test i ; 4X4dem ¥ F w2 2 A dmip|E T ¢

AT PRI SEIK
(w2 & 4 =% 54 PlEB N o
(DDA p #RT $FHc— 11 p #R 9 $F#cs A

AAGER BRI E0M(EINEE B F -

A

?

KRk R

ﬁ/r’fi I"p ;

B. fizr’;us BT EI9(ZINTH o RBA LW -
3. v F#a  PA-5 f5:E 30 = ~ TA-5 £ 30 & ~KA-5 )& 30 =« -
4%@13@ KEb  PRBERET > I UE
0: zepmiznd
L gape i d s Gl R
PRS- R L L T A P e 'rglﬁfv]v'&“lg‘sg .

. ¥R R iy 1
0:0-5%"+ T &7 &
1:6-10 $F1F Trz £ 77 &
2 11-14 % T 7 &

R ANEY
e

Ba

J—%"Zg )



